Constable GD in Central Armed Police Forces CAPFs SSF Rifleman GD in Assam
Rifles Examination 2024

[Exam Date 23/02/2024
Exam Time 9:00 AM - 10:00 AM
Subject [Constable GD Examination 2024

Section : Part-A-General Intelligence and Reasoning

Q1

Ans 1 Dﬂl}’ I

2. BothIandII
3. OnlyI

" 4 Neither I nor IT

Q.2

Ans




Q.3

Ans 1. Vikas
« 2. Priya
3. Rahul
4. Kiran
Q.4
Ans 1. R
2 Q
3T
4 P
Q.5
Ans 1. QKES
2. QIFT
« 3. QJES
4. QIET
Q.6
Ans 1. P6
2. P5
3. P4

&4 P2




Q7

Ans
1 E @)
2 @)
3. E O
4, o
Q8 Tn the following question, select the missing number from the given series.
451,472, 493,514, 7, 556
Ans 1. 538
¥ 2. 535
3. 534

4. 530




Q.9  Which of the following groups of letters when sequentially placed from left to right will complete the given series?
ee fgghheeffgg heeffgghheeff hh
Ans 1. ggﬂl
2. eeff

« 3. thgg
4. efgh

Q.10

Ans 1205

+ 2. 200

Q11 A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

MQRT. JNOQ, GKLN, DHIK, ?
Ans 1. ANRS
2. AMRQ
« 5 AEFH
4. ANTS

Q.12

Ans 1
o 2.
3.

4. Weither conclusion I nor IT follows

Q13 IfE7LS0MISN6=27and IO0OLSOM I3N5=85.then 6 L8 M4N3="?
Ans 1. 8§

2.
3.
o 4.

[ e B




Q.14

Ans 12,5, 1,4.3
2.2,3,1,4,5
3.2,3,1,5.4

¥4 2,5.1,3,4

Q.15

Ans




Q.16

Ans 1.
2. Son
3
4. Father
Q.17

In the following guestion, select the related letters from the given alternatives.
BO:AM:-CP: 7
Ans 1. AS
2. ¥X
3. Hi
v 4 BN




Q.18
Ans
vl
2.
3.
.
Q19 1n the following question, select the related letter pair from the given alternatives.
ER:ET:?
Ans 1 EZ AV
2. 0G:KC
3 SX:S87
4 WK : GR
Q.20
Ans 1. 304
2. 296
3. 308
4. 312

Section : Part-B-General Knowledge and General awareness




Q1

Ans 1.
2.
3.
4.
Q.2
Ans 1.
2.
3.
o 4.
Q.3
Ans 1. China
2. Pakistan
3. Myanmar
« 4. Nepal
Q.4
Ans 1.
2.
3.
4. 1st July to 30th June
Q.5
Ans 1.
+ 2. Divine Tides
3.
4.
Q6 In which type of shooting sport do athletes shoot at targets from a distance of 10 meters, 25 meters. and 50 meters?
Ans 1. Archery
o 2.
3.

4. Biathlon




Q7

Ans 1. Kerala
2. Bihar
+ 3. Tamil Nadu
4
Qs

Ans 12500
2. 5000

« 3. 3500
42000

Q9 Which among the following Articles of the Indian Constitution deal with 'Right to Freedom of Religion'?
Ans 1.

2. Article 21-24

&3
.
Q10 dance form originates from the southern Indian state of Kerala.
Ans 1.
&2
3. Only Kuchipudi
4. Only Kathak
Q.11
Ans 1. Australia
2. India only
&3
a.
Q.12

Ans 11932
2. 1922

3. 1952

o 4 1942

Q.13

Ans 1. 31
2. 226

4 32




Q.14

Ans 1. bronze
2. silver
« 3. gold
4. two
Q.15
Ans 1. In 2023
2. In 2020
3. In 2021
4. In 2022
Q16 Fatorpa Zatra and Mando festival are related with which of the following states?
Ans 1. Kerala
2. Karnataka
3.
« 4 Goa
Q.17
Ans 1.
2.
3.
& 4
Q18 Which of the following gases, when cooled and compressed, can change from a gas to a supercritical fluid state?
Ans 1.
2.
3.
4. Steam
Q19 As per Census 2011, India’s population was 121.1 Crore with female population.
Ans 1.
2.
3.




Q.20

Ans 1. Intellectual

2. Spcialist

+ 3. Gandhian
4. Liberal
Q.1
Ans 1. 15
2. 13
3. 17
4. 11
Q.2

Ans 1.21/2
2. 2/63

3. 85/7

4 6312

Q.3

Ans 1. 20 days
« 2. 17.5 days

3. 19 days

4. 21 days

Q4 Ifa number R1 is 13 percent less than another number R2 and R2 is 50 percent more than 5600, then what is the value
of R17?

Ans 17510
« 2. 7308

3. 7010

4. 7101

@5 Ifx:y=7:2, then what is the value of (7x + 4y) : (7x — 4y)?
Ans @ 1.57:41

2. 40: 31

3. 54:43

4. 39:29




Q.6

Ans @1 4.17%
2. 6.23%
3. 5.83%
4. 5.13%
Q.7
Ans 1. 12
2. 14
+ 310
4. 13
Q.8
Ans 1. 408
2. 458
3. 468
« 4 488
Q.9  Mohan buys an old mobile for Rs. 4000 and spends Rs. 500 on its repairs. If he sells the mobile for Rs. 5000, then what
is his profit percentage?
Ans s 1. 11.11 percent
2.
3.
4.
Q10 P can do a work in 14 days. What part of the total work can be done by P in 4 days?
Ans 1. 4/9
2. 2/7
3. 3/8
4 6/7
Q.11 The marked price of an article is 25 percent more than its cost price. What maximum discount percentage can be offered
by the shopkeeper to sell his article at profit?
Ans

1.
2. 16.67 percent
« 3. 20 percent

4.




Q.12

Ans 1. Rs. 37200
2. Rs. 34600

5 Rs. 36400
4.

Q.13

Ans 1..2200
2. 5500

5 4400

4. 3300

Q.14

Ans 1.

@15 Find the fourth proportional of 4x, x+4, 3x-1, if x=2

Ans 1. 14/4
v 2.15/4
3.11/4
4 21/4

Q.16

Ans s 1. 34 percent
2.
3.

4.

Q.17

Ans 1. 12

224
3 18
414




Q.18 A solid metallic sphere of radius 15 cm is melted and recast into a cone having diameter of the base as 15 cm. What is
the height of the cone?

Ans 1. 212 cm
2. 186 cm

3. 284 ¢cm

o 4 240 cm

Q.19 A person borrowed Rs. 15000 on compound interest at the rate of 30 percent per annum. If the interest is compounded
half vearly, then what will be the amount to be paid after 1 year?

Ans 1.
2
3. Rs. 17482.5
4.
Q.20
Ans 1. 4m
2. 3m
3 2m
4. 6 m
Q.1
Ans 1. petite
2. attractive
3. laborious
« 4. crude

Q2 Choose the option which is antonym of (opposite of) the word "disseminate" in the sentence given below:

He tried to conceal his excitement, but the sparkle in his eyes gave away the joy he felt at the surprise.

Ans 1. sparkle

2. gave
3. felt
« 4. conceal




Q.3

Ans 1.
2.
3.
4.
Q4
Ans 1.
2.
« 3. No improvement
4,
Q.5
Ans 1. there
2. was
3. would
o 4. WwWere
Q.6
Ans 1. Rebuke
2. Fester
3. Flowery
« 4. Applause
Q7
Ans 1. Latent
2.
3. Obscure

4. Private




Q.8

Ans 1. 30
2. much
« 3. many
4. very
Q9  Four sentences are given, out of which three have all correct spellings. Choose the sentence with the incorrect spelt
word/ words.
Ans 1
2.
+ 3. He was wepping hard and quietly and shaking in the same parts as a wepping woman.
4.
Q10 Select the sentence with no spelling errors.
Ans 1. Sensational and often reckless reports in the press threaten the fainess of a trial.
2. Sensational and ofen reckless reports in the press threaten the fairness of a trial.
« 3. Sensational and often reckless reports in the press threaten the fairness of a trial.
4. Sensational and often reckless reports in the press threten the fairness of a trial.
Q.11 The sentence has been divided into three parts, identify the error segment in the sentence given below. Choose no error
if there is no error in the sentence.
Her performance in the second round of the/ competition was even most impressive/ than her outstanding debut in the
first round.
Ans 1
o 2.
3. no error
4.
Q12 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
Some bacterial cells on our hands may have genes that enabling them to be resistant to a given antibacterial agent.
Ans 1. No error
o 2.
3.




Q.13

Ans 1.
2
3.
4,
Q.14
Ans 1. No error
&2
3.
4,
Q.15
Ans 1. meets him

« 2. No improvement

3. met him
4.

Comprehension:

SubQuestion No : 16

Q.16
Ans 1. nor
2. 0r

3. may be

4. also




Comprehension:

SubQuestion No : 17

Q.17
Ans 1. ejther
2. pretty much
+ 3. neither

4. not much

Comprehension:

SubQuestion No : 18

Q.18

Ans 1. collapse
2. pffend
3. ridicule

« 4. concede

Comprehension:

SubQuestion No : 19

Q.19
Ans 1. harmony
2. contract
" 3. clash

4. burning out




Comprehension:

SubQuestion No : 20
Q.20

Ans " 1.claims
2. dignify
3. denial

4. morality

Section : Part-D-Hindi

QU Saffag gea &, 9K Aeedt § ¥, 39 NFeT & 99 &7 o g T F v afr sifaarms gar aen
faeme 21
TS W ogd W WU e g &
Ans 1-ﬁg
. T
3. er
o 4 TR

4 Runu e § 9 e s 319 S|

gIeh] Al SFHI-OHI BT 1Y B
Ans 1. qYy
V2 S
ST
4. bl

** fu e are # 3Rud Seo-fae e Tse o 99 e Rad W Bl gfd i

I PUs NP a
Ans TS
2. adHdld
3. Thdl
4 3Tyt




Q.4

Ans

FrafeRad uy o, IGU U 9R fdedl # 9, 39 fddhed &1 98+ & 5l U 1T HeTar & o &l §a9% ¥ 9 Had
GG

1% ST 91d AT

1. forY IR T g
v 2 Sgd U grn

3 G Had gl

4 HHE A T8l

Q.5

Ans

FafaiEd vy o, IR fadet § 31, 39 Ug! [ddhed &1 997 &< ol aaiR] & AU U Xeg Pl fadbed gl |
e Pig, 6T el IR I8l

1. HelH g
o 2. GRT\&H

3 RIS

4 3gd

Q.6

Ans

T wod &, IX fSeeat # @, 37 TFeT & I9 #{ F7 g T F e @gr o= I
ICEZ i
99 A U 93-98 A, HSET FHEAC dF g s £

1.3@-
zﬂﬁm
3 g

4 faoer

Q.7

Ans

3T TTU a1 § Ydifded Usa &l [ Xsg 31d Sifog |

g8 GRT M TR = 31 BT 3] &2 &
1. :Iaﬁ_("ﬂ

« 2. Ygl]
3. PAcl
4. @'II[




Q.8

Ans

o afarila o #, 91X fecdl H§ ¥, 37 [FFeT &7 907 F 1 F5aF H &0 a0 g & gargar=r
9Teg FT Tel adheT & |
HTSTher N I AR FT 7 FO A797 W@ (HTR)

¥
v FgE

2 Hepoq
>
. v

T

Q.9

Ans

fafaRad us H, IR fabedl & 9, 39 Gal [ddbed &1 99+ & ol IRl & oL U 2eg o1 fdebed Bl
gd] 9 A -

"y

2 gRag
W 3. qTﬁfa

4 reffq

Q.10

Ans

frafafad uy H IR fGeedl 7 9, 39 fAwed &1 909 & S ®I§S H 3T MU Wsg & qafgard Wsg &1 Ug! 25
TIe |

aef SufRd e FffT U R N g S UM & fow (emga) 9
v BRI

2 3R

3. fagfsy

4. 3@1;[

Q.11

Ans

feU ¢ 9199 § ¥ TAd ol 31 S|

U BUI H o 99 daie o [Gal|
v 1. B0

g

3. HY

. G




Q.12

Ans

fafafad vy ¥ IR Aol # 4, 39 Ut fdwcy &1 999 &3 off I & o U s &1 faded gl
fep T cafaa a1 fgid &1 9o & ara

v . sigard
2. 3ffeae

3.3,|Tzﬂa:[

4 VR

Q.13

Ans

Ao T Jod #, 91X a9 # ¥, 30 T5cT &7 999 F{ 3T F5aF H BT v o=g & FaH o
FT e TFeT B
Fel A WG & () Fe g
. FHIT
2. I
3. At
< 4 T=reT

Q.14

Ans

T v A # 3 o A &, Ted w18 3 g
AT @ o= F BT 7w A-ged Far

I e ¥ BT
2. HITAT &
3-@?”%

v 4. T8 AR

Q.15

Ans

[Frafeiad vy o, Gy U AR feedl § 9, 39 fddhey &1 9g+ & ol U 1T ggTar & o1l 3l §a98 ¥ 9 e
&l g

@R DieT g
1. o] 9% Ygd TRIE Bl
2 Ug & Ud 91
3. el & f& Pre

v 4 D HHOIR Bl S




Q.16

Ans

Comprehension:

A R a1w g7 # Fo g o3 G av § ik gw Rea s & 91 Reew Ru v §) 59 w1t A
¥ Hia @1 fawes Rera Ta=r $F qfd wm-

gfmR & gege # (1) 3 & 9T W §, 9T oma & aemgcmat v oaeE (2 ¥
Fei F 3EEE (3) 7T @ ¢ Sws 990 $T @97 AoAEew S wET (4)_ %EH 39T W@ §

faearfeiat v smcAgeanatt & 3Mieer W A= T ar Ry s (5) gl

SubQuestion No : 16

Red1 & foT 99 Iugad fahed &1 994 S|
o 1 'qe:ﬂﬁ
2 A

3.@ﬂﬁ
4. gIAd

Q.17

Ans

Comprehension:

7 T 71T e F FT weg o7 R A § ¥R viw e 2w F 9N Reed Rr v f s ARt &
¥ Fia @1 fawew Rea v $r qfd s

e # gageh #1 (1) oS ¥ T W E, AT sRa F aeAgest @ swsT (2 3
Fet & e (3) T T & T Tod $T W AcAeew W weT (4)__ wed 3o @ B

Rreanfat & scagamt F HFsr W FR) = ar By wrfr (5) £l

SubQuestion No : 17

Red2 & foT 9ed Iugad fadhed &1 994 S|
. ORI

Q.18

Ans

Comprehension:

A R a1w eT 7 Fo eeg o3 v av § iR 3w Rea s ¥ 9w Reew Rr v § sw oA A
¥ Hia @1 fawes Rea T $F qfd s

gieamsR # gael #r (1) 35 ¥ 92 W §, 9T 9N F HicHecat #T awar (2) B
Fei F 3EEE (3) 92 T § s Tod T ST deEEed ¥ weT (4)_ e 35T X 8

faearfiat v seAgeaTst & st 9 A= e ar By s (5) gl

SubQuestion No : 18

Rei3 & foT 9ed Iugad fadhed &1 994 FIf |




Q.19

Ans

Comprehension:

A R a1w eT 7 Fo eeg o3 v av § iR 3w Rea s ¥ 9w Reew Rr v § sw oA A
¥ Hia @1 fawes Rea T $F qfd s

gieamsR # gael #r (1) 35 ¥ 92 W §, 9T 9N F HicHecat #T awar (2) B
Fei F 3EEE (3) 92 T § s Tod T ST deEEed ¥ weT (4)_ e 35T X 8

faearfiat v seAgeaTst & st 9 A= e ar By s (5) gl

SubQuestion No : 19

R4 & ToT 91 Iugad fadhed &1 994 FIf |
. IR

v 2 faerR®
3 U
4. a—c\;:l]—mv—

Q.20

Ans

Comprehension:

A fGT 71T Em 7 Fo weg o G av § AR 93w Rew w & 9 Reed Rfr aw ) s At A
¥ Hid @1 Fwew Rea T & qfd wiem-

geramT # gegeh #r (1) o ¥ TE WL, e oRa F g # AT (2 ¥
Fet & e (3) IT T § O Tod T AT FeAEdT oW g6 (4)_ wEH 39T W 8

freanfiat & scAgamt F HFsr W FR = ar By Fnhr (5) gl

SubQuestion No : 20

Rerds & oY 91 Iugad fadbed &1 994 DI |






